Reference: EXAM / JPP / BITIC / LALPUR / BBA-THIRD / (MO/17) / 2017-2018

By the order of Examination committee , the following is the result of BBA - THIRD Semester held in the month of NOV-2017

Date: FEB-2018

SES	SSION: 2017-2018 CLASS	: I	3BA			В	RANCI	I : M	ANAGE	MENT								S	SEMESTER / TRIME	STER : T	HIRD	MONTH OF EXAM : NOV-2017
ROLL NO	NAME	U L	BBA	3011(3) -	BBA	3009(2)	BBA	3003(3)	BBA3	007(3)	BBA3	001(3)	BBA3	3005(3)	BBA3	002(2)	-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
		Ш	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BBA/40514/16	SHUBHAM BATHWAL	U	A	24.0	A -	16.0	A	24.0	A+	27.0	A -	24.0	A	24.0	A	16.0	-	=	155.0	19.0	8.16	-
BBA/40515/16	RAJESH KUMAR MAHTO	U	С	15.0	С	10.0	В	18.0	F	0.0	F	0.0	D	12.0	B+	14.0	耳	Ξ	69.0	19.0	3.63	-
BBA/40516/16	AKSHAY KUMAR SINGH	U	C	15.0	В	12.0	В	18.0	D	12.0	C	15.0	\leftarrow	15.0	B+	14.0		-	101.0	19.0	5.32	-
DD 1 (40515/1) (SUDVI DEVI DE LO LE	U	- F*	0.0	F*	0.0	F*	0.0	F	0.0	F*	0.0	- F*	0.0	F*	0.0	-		0.0	10.0		T4 D
3BA/40517/16	SIDHARTH PRASAD	L	-	-] -	-	-]	-	-	-	-	-	-	-		- 1	0.0	19.0	0	F* IN : BBA3001, BBA3003, BBA3009, BBA3005, BBA3011, BBA300
3BA/40518/16	ADARSH SRIVASTAVA	U	A	24.0	A+	18.0	A+	27.0	B+	21.0	A+	27.0	A+	27.0	A -	16.0	-	-	160.0	19.0	8.42	-
BBA/40519/16	MOHUL SAHU	U	A	24.0	A+	18.0	Α	24.0	A+	27.0	A	24.0	A+	27.0	A	16.0		4	160.0	19.0	8.42	-
DD 4 /40521 /16	ANKIT KUMAR	U	B+	21.0	В	12.0	A	24.0	B+	21.0	A	24.0	B+	21.0	B+	14.0	-	-	137.0	19.0	7.21	
BBA/40321/10	ANKII KUMAK	L	-	-	-	-	-		Ē	-	_	-	-	-	-	-	-	3	157.0	19.0	7.21	-
BBA/40522/16	HIMANSHU KUMAR	U	B+	21.0	C -	10.0	A -	24.0	B+	21.0	B+	21.0	B+	21.0	B+	14.0	-	긤	132.0	19.0	6.95	-
3BA/40523/16	KUMAR SUBHAM	U	B+	21.0	С	10.0	B+	21.0	В	18.0	B+	21.0	B+	21.0	B+	14.0		Ξ	126.0	19.0	6.63	-
DD 4 /40524/16	NITIN AMAN LAKRA	U	B+	21.0	В	12.0	B+	21.0	В	18.0	В	18.0	B+	21.0	B+	14.0	-	-	125.0	10.0	(50	
DDA/40324/16	INTTIN AIVIAN LAKKA	L	-	_	<u> </u>	-	-			-		_	-	-	-			I	125.0	19.0	6.58	-
3BA/40525/16	RISHABH JAIN	U L	B	18.0	B -	12.0	B+	21.0	B+	21.0	B+	21.0	B -	18.0	B+	14.0	-	-	125.0	19.0	6.58	-
3BA/40526/16	PRATIK VINAYAK	U	В	18.0	B+	14.0	B+	21.0	B+	21.0	В	18.0	B+	21.0	В	12.0		3	125.0	19.0	6.58	-

PRINCIPLES OF MARKETING II FINANCIAL ACCOUNTING HUMAN RESOURCE MANAGEMENT INTRODUCTION TO FINANCIAL MARKETS BBA3011(3) BBA3009(2) BBA3003(3) BBA3007(3) RESEARCH METHODOLOGY
LEGAL ASPECTS OF MANAGEMENT
WEB APPLICATIONS FOR BUSINESS LAB BBA3001(3) BBA3005(3) BBA3002(2)

Controller of Examinations

Disclaimer

Reference: EXAM / JPP / BITIC / LALPUR / BBA-THIRD / (MO/17) / 2017-2018

By the order of Examination committee, the following is the result of BBA - THIRD Semester held in the month of NOV-2017

Date: FEB-2018

SESSIO	ON : 2017-2018 CLASS :	BBA			BRANC	Н : МА	NAGEMI	ENT						SEMES	STER / TF	IMESTER	: ТНП	RD		MONTH C	F EXAM	: NOV-2017
ROLL NO	NAME	U L	BBA	007(3)	BBA	1009(2)		3003(3)		3007(3)		3001(3)		3005(3)		3002(2)			TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
-	1	4	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BBA/40043/16	VASAVI	L	B+	21.0	_ A	16.0	- D	12.0	B+	21.0	- A	24.0	- A	24.0	- A	16.0	-	-	134.0	19.0	7.05	UNFAIR MEANS
BBA/40044/16	NEHA BHARTI	U	B+	21.0	A	16.0	A+	27.0	B+	21.0	Α	24.0	B+	21.0	A	16.0	-	-	146.0	19.0	7.68	-
	1	II	B+	21.0	C	10.0	F*	0.0	D.	12.0	B+	21.0	B+	21.0	B+	14.0	-					
BBA/40045/16	ALISHA SHREE	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	99.0	19.0	5.21	F* IN : BBA3003
BBA/40046/16	SHREYA SINGH	U	Α	24.0	D	8.0	A+	27.0	B+	21.0	A	24.0	A	24.0	A	16.0	-	- 1	144.0	19.0	7.58	UNFAIR MEANS
BBA/40040/10	SHRETA SHROH	L	-	-	-	-	-	-	-	-		-		-	-	-	-	- 1	144.0	19.0	7.56	ON AIR MEANS
BBA/40047/16	NISHA KUMARI	U	A+	27.0	B+	14.0	A+	27.0	A	24.0	A+	27.0	A+	27.0	A	16.0	-	-	162.0	19.0	8.53	-
		II.	- A	24.0	- A+	18.0	A+	27.0	A+	27.0	- A+	27.0	A+	27.0	A	16.0		-				
BBA/40048/16	YAMINI	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	166.0	19.0	8.74	-
BBA/40049/16	CHHAVI SRISHTY	U	A	24.0	B+	14.0	A+	27.0	Α	24.0	A	24.0	A	24.0	A	16.0	-	-	153.0	19.0	8.05	
BBA/40049/10	CHIAVI SKISHI I	L	-	-	-	-	-	-	-	-	-	-	-	-	i -	-	-	-	155.0	19.0	8.03	-
BBA/40050/16	SWASTIKA VERMA	U	В	18.0	D	8.0	B+	21.0	В	18.0	В	18.0	B+	21.0	B+	14.0	-		118.0	19.0	6.21	_
BB11 10030/10	SWIBINET VERWIT	L	-	-	-	-	-	-	-	-		-	-	-	-	-	-	-	110.0	15.0	0.21	
BBA/40051/16	KUMARI RITU	U	A+	27.0	A	16.0	A+	27.0	A	24.0	A	24.0	A	24.0	A+	18.0	-	-	160.0	19.0	8.42	-
	<u> </u>	II	B+	21.0	Δ	16.0	- A	24.0	- B+	21.0	- A	24.0	- A	24.0	- A	16.0	<u> </u>					
BBA/40052/16	NAVEENE RAJ	L	-	-	-	-	- A	-	-	-	-	-	-	-	-	-	-	-	146.0	19.0	7.68	-
BBA/40053/16	SOUMYA DUTTA	U	A	24.0	A	16.0	A+	27.0	A	24.0	A+	27.0	A+	27.0	A	16.0	-	-	161.0	19.0	8.47	
BBA/40033/10	SOUNTA DUTTA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	101.0	19.0	0.47	-
BBA/40054/16	DEEPSHIKHA	U	A+	27.0	B+	14.0	A+	27.0	A	24.0	A	24.0	A	24.0	A	16.0	-	-	156.0	19.0	8.21	-

Controller of Examinations

Disclaimer

Reference: EXAM/JPP/BITIC/LALPUR/BBA-THIRD/(MO/17) / 2017-2018

By the order of Examination committee, the following is the result of BBA - THIRD Semester held in the month of NOV-2017

Date: FEB-2018

SESSIO	ON : 2017-2018 CLASS :	BBA			BRANC	Н : МА	NAGEMI	ENT						SEMES	STER / TR	IMESTER	: THIF	ND D		MONTH C	F EXAM	: NOV-2017
ROLL NO	NAME	U L	BBA3	3011(3) .007(3)		1009(2) 1009(3)	BBA3	3003(3)		3007(3)	BBA3	3001(3)	BBA:	3005(3)		3002(2)	BBA1	001(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
		Ш	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	Tonvis	CILLDIID		
BBA/40056/16	MANISHA MAZUMDAR	U L	B+	21.0	A -	16.0	A -	24.0	B+	21.0	B+	21.0	A -	24.0	B+	14.0	-	-	141.0	19.0	7.42	-
BBA/40057/16	SHRADHA TEKRIWAL	U L	B+	21.0	B+	14.0	B+	21.0	B+	21.0	A	24.0	A	24.0	B+	14.0	-	-	139.0	19.0	7.32	-
BBA/40058/16	SHIVANGI SONAL	U I.	B+	21.0	B+	14.0	A	24.0	В	18.0	B+	21.0	A	24.0	A	16.0	-	-	138.0	19.0	7.26	-
BBA/40059/16	SIMRAN	U	B+	21.0	В	12.0	A	24.0	В	18.0	B+	21.0	A+	27.0	B+	14.0	-	-	137.0	19.0	7.21	-
BBA/40060/16	SHREYA PANDEY	U	В	18.0	B+	14.0	B+	21.0	B+	21.0	B+	21.0	Α	24.0	B+	14.0	-	-	133.0	19.0	7.00	-
BBA/40061/16	ADITI KIRAN	U	A	24.0	A	16.0	A+	27.0	B+	21.0	A+	27.0	A+	27.0	A	16.0	-	-	158.0	19.0	8.32	-
BBA/40062/16	PRIYA PRASAD	U	A	24.0	A	16.0	A	24.0	B+	21.0	A	24.0	A	24.0	A	16.0	-	-	149.0	19.0	7.84	-
BBA/40064/16	RASHMI RANI	U	B+	21.0	В	12.0	A	24.0	B+	21.0	A	24.0	A	24.0	A	16.0	-	-	142.0	19.0	7.47	-
BBA/40065/16	AARTI PATEL	U	A	24.0	A	16.0	A	24.0	A	24.0	A+	27.0	A+	27.0	A	16.0	-	-	158.0	19.0	8.32	-
BBA/40066/16	SONAM SINGH	U	- A	24.0	A	16.0	B+	21.0	В	18.0	A	24.0	A+	27.0	B+	14.0	-	-	144.0	19.0	7.58	-
BBA/40067/16	ISHA ROY	U	В	18.0	В	12.0	B+	21.0	C	15.0	B+	21.0	В	18.0	В	12.0	-	-	117.0	19.0	6.16	-
BBA/40068/16	NIDHI KASHYAP	U	A	24.0	B+	14.0	A+	27.0	D	12.0	A	24.0	A	24.0	В	12.0	-	-	137.0	19.0	7.21	UNFAIR MEANS

PRINCIPLES OF MARKETING II FINANCIAL ACCOUNTING HUMAN RESOURCE MANAGEMENT INTRODUCTION TO FINANCIAL MARKETS : INTRODUCTION TO BUSINESS ACCOUNTING : FUNDAMENTALS OF COMPUTING BBA3011(3) BBA3009(2) BBA1007(3) BBA1009(3) BBA3003(3) BBA3007(3) RESEARCH METHODOLOGY LEGAL ASPECTS OF MANAGEMENT BBA3001(3) BBA3005(3) BBA3002(2) WEB APPLICATIONS FOR BUSINESS LAB BBA1001(3) GENERAL PRINCIPLES OF MANAGEMENT

Controller of Examinations

Disclaimer

Reference: EXAM / JPP / BITIC / LALPUR / BBA-THIRD / (MO/17) / 2017-2018

By the order of Examination committee, the following is the result of BBA - THIRD Semester held in the month of NOV-2017

Date: FEB-2018

SESSIO?	N : 2017-2018 CLASS : BI	BA			BRANCH	: MANA	AGEMEN'	Γ					SE	MESTER /	TRIMES	ΓER : T	HIRD		MO	NTH OF EXAM	: NOV-2	2017
		U	BBA	3011(3)	BBA3	3009(2)	BBA	3003(3)	BBA	3007(3)	BBA	001(3)	BBA	3005(3)	BBA	3002(2)	BBA1	001(3)	TOTAL CREDIT	TOTAL		
ROLL NO	NAME	L	BBA GR.	1007(3) PT.	BBA GR.	1009(3) PT.	GR.	PT.	GR.	PT.	GR.	- PT.	GR.	PT.	GR.	- PT.	GR.	PT.	POINTS	CREDITS	SGPA	REMARKS
	 	П	A A	24.0	A A	16.0	A A	24.0	A A	24.0	A A	24.0	B+	21.0	A A	16.0	GK.	F1.				
BBA/40069/16	ARISHA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	149.0	19.0	7.84	-
BBA/40070/16	PUJA KUMARI	U	B+	21.0	A	16.0	A	24.0	В	18.0	A	24.0	A+	27.0	A	16.0	-	-	146.0	19.0	7.68	
BBA/400/0/16	PUJA KUMARI	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	- 1	146.0	19.0	7.08	-
BBA/40071/16	KAJAL KUMARI	U	В	18.0	С	10.0	B+	21.0	В	18.0	A	24.0	A	24.0	A	16.0	-	-	131.0	19.0	6.89	-
		L U	-	24.0	-	- 16.0	- D:	21.0	- D:	21.0	- D:	21.0	-	24.0	-	16.0		-				
BBA/40072/16	PRACHI SAHAY	I.	_ A	24.0	A	16.0	B+	21.0	B+	21.0	B+	21.0	_ A	24.0	A	16.0	-	-	143.0	19.0	7.53	-
		U	A	24.0	A	16.0	A	24.0	A	24.0	A	24.0	A	24.0	A	16.0	-	-				
BBA/40073/16	RIYA SRIVASTAV	L	-	i -	-	-	-	-	-	-	-	-	-	-	-	-	-	-	152.0	19.0	8.00	-
BBA/40074/16	AKANKSHA BHARTI	U	B+	21.0	B+	14.0	B+	21.0	B+	21.0	B+	21.0	B+	21.0	A	16.0	-	-	135.0	19.0	7.11	_
BB12 1007 1110		L	-		-	-	-	-		-	-	-	-	-	-	-	-	-	133.0	15.0	7.11	
BBA/40075/16	SHIKHA KUMARI	U	B+	21.0	B+	14.0	B+	21.0	A	24.0	A	24.0	A+	27.0	A	16.0	-	-	147.0	19.0	7.74	-
		L	-	-	-	-	-	-		-	-	-	-	-	-	-	-	-				
BBA/40076/16	SRISHTI SUKIRTI	Ţ	A	24.0	A	16.0	B+	21.0	A	24.0	A	24.0	A+	27.0	A	16.0	-	-	152.0	19.0	8.00	-
		U	A	24.0	В	12.0	B+	21.0	В	18.0	A	24.0	Ā	24.0	C	10.0	-	-				
BBA/40077/16	MONIKA	L	-	1 -	С	15.0	<u> </u>	-	-	-	-	-	-	-	-	-	-	-	148.0	22.0	6.73	-
BBA/40078/16	RIDDHI SINGH	U	B+	21.0	B+	14.0	A	24.0	B+	21.0	A	24.0	B+	21.0	A	16.0	-	-	141.0	19.0	7.42	
BBA/40076/10	KIDDIII SINGII	L	-		-	-	<u> </u>	-		-	-	-		-		-		-	141.0	19.0	7.42	
BBA/40079/16	NIKITA PANDEY	U	B+	21.0	B+	14.0	A	24.0	В	18.0	A	24.0	A	24.0	B+	14.0	-	-	139.0	19.0	7.32	-
	<u> </u>	L	- D	12.0	- D	8.0	- F	0.0	- F	0.0	- D	12.0	- E	0.0	- В	12.0	_	-				
BBA/40080/16	PRITI ROY	L	-	12.0	-	- 0.0	- F	- 0.0	-	- 0.0	-	12.0	- F	- 0.0	- Б	12.0	H		44.0	19.0	2.32	-

: PRINCIPLES OF MARKETING II : FINANCIAL ACCOUNTING : HUMAN RESOURCE MANAGEMENT : INTRODUCTION TO FINANCIAL MARKETS : INTRODUCTION TO BUSINESS ACCOUNTING : FUNDAMENTALS OF COMPUTING BBA3011(3) BBA3009(2) BBA1007(3) BBA1009(3) BBA3003(3) BBA3007(3) RESEARCH METHODOLOGY BBA3001(3) BBA3005(3) LEGAL ASPECTS OF MANAGEMENT Controller of Examinations BBA3002(2) WEB APPLICATIONS FOR BUSINESS LAB BBA1001(3) GENERAL PRINCIPLES OF MANAGEMENT

Disclaimer

Reference: EXAM / JPP / BITIC / LALPUR / BBA-THIRD / (MO/17) / 2017-2018

By the order of Examination committee, the following is the result of BBA - THIRD Semester held in the month of NOV-2017

Date: FEB-2018

SESSIO	N : 2017-2018 CLASS :	BBA			BRANC	Н : МА	NAGEMI	ENT						SEMES	STER / TR	IMESTER	: THIF	D		MONTH C	F EXAM	: NOV-2017
ROLL NO	NAME	U L	BBA	3011(3) 007(3)	BBA	1009(2) 1009(3)		3003(3)		3007(3) -		3001(3)		3005(3)		3002(2)	BBA10		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
		4	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BBA/40081/16	ANJALI SINHA	U L	B	18.0	F*	0.0	B+	21.0	- C	15.0	- A	24.0	- B	18.0	B+	14.0	-	-	110.0	19.0	5.79	F* IN : BBA3009
BBA/40082/16	SHRESTHA JAIN	U L	B+	21.0	B+	14.0	B+	21.0	В	18.0	В	18.0	B+	21.0	B+	14.0	-	-	127.0	19.0	6.68	-
BBA/40083/16	UZMA NIKHAT	U	A	24.0	В	12.0	B+	21.0	В	18.0	B+	21.0	В	18.0	В	12.0	-	-	126.0	19.0	6.63	-
BBA/40084/16	ANKITA KUMARI	U	B+	21.0	С	10.0	В	18.0	С	15.0	A	24.0	С	15.0	B+	14.0	-	-	117.0	19.0	6.16	-
BBA/40085/16	RICHA SINGH	U	B+	21.0	B+	14.0	B+	21.0	B+	21.0	B+	21.0	B+	21.0	B+	14.0	-	-	133.0	19.0	7.00	-
BBA/40086/16	ARPITA DAS	U	B+	21.0	B+	14.0	B+	21.0	В	18.0	A	24.0	B+	21.0	B+	14.0	-	-	133.0	19.0	7.00	-
BBA/40087/16	SHREYA SINGH	U	B+	21.0	D	8.0	A	24.0	A	24.0	A	24.0	B+	21.0	B+	14.0	-	-	136.0	19.0	7.16	UNFAIR MEANS
BBA/40088/16	KUMARI RIMJHIM	L U	- A	24.0	- C	10.0	- B+	21.0	- C	15.0	- C	15.0	В	18.0	В	12.0	-	-	115.0	19.0	6.05	
BBA/40088/10		L	- B+	21.0	- B+	14.0	- B+	21.0	- B	18.0	- B+	21.0	B+	21.0	- A	16.0	-	-	113.0		0.03	
BBA/40089/16	APOORVA PANDEY	L	-	-	-	-				-		-	-	-	-	-	-		132.0	19.0	6.95	-
BBA/40090/16	SHEETAL AGARWAL	U L	B+	21.0	B+	14.0	B+	21.0	- B	18.0	- B	18.0	B+	21.0	B+	14.0	-	-	127.0	19.0	6.68	-
BBA/40091/16	SHREYA KUMARI	U L	Α -	24.0	B -	12.0	A -	24.0	B+	21.0	A+	27.0	A+	27.0	Α -	16.0	-	-	151.0	19.0	7.95	-
BBA/40092/16	SURABHI SINHA	U	B+ F	21.0	С	10.0	В	18.0	В	18.0	B+	21.0	В	18.0	B+	14.0	-	-	120.0	22.0	5.45	-

Controller of Examinations

Disclaimer

Reference: EXAM / JPP / BITIC / LALPUR / BBA-THIRD / (MO/17) / 2017-2018

By the order of Examination committee, the following is the result of BBA - THIRD Semester held in the month of NOV-2017

Date: FEB-2018

SESS	SION: 2017-2018 CLASS:	BE	3A			BRANC	Н :	MANAG	EMENT							S	EMESTE	ER / TRI	IMESTER : THIRD			MONTH OF EXAM : NOV-2017
ROLL NO	NAME	U L		3011(3) 1007(3)		3009(2) 1009(3)	BBA	3003(3)	BBA	3007(3)	BBA3	3001(3)	BBA:	3005(3)	BBA3	3002(2)	BBA10	001(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
		Ш	GR.	PT.	_	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	101113	CKEDITS		
BBA/40093/16	KUMARI DEEPIKA BAGTI	U L	F*	0.0	F	0.0	F*	0.0	F	0.0	F*	0.0	F*	0.0	F	0.0	-	-	0.0	19.0	0	F* IN : BBA3001, BBA3003, BBA3005, BBA3011
BBA/40094/16	GURLEEN KAUR	U L	В	18.0	B+	14.0	В	18.0	C	15.0	В	18.0	В	18.0	В	12.0	-	_	113.0	19.0	5.95	-
BBA/40096/16	RIYA JAISWAL	U L	B+	21.0	A -	16.0	A -	24.0	B+	21.0	B+	21.0	В	18.0	C -	10.0	-	-	131.0	19.0	6.89	-
BBA/40097/16	VAIBHAWY	U L	A -	24.0	В -	12.0	A -	24.0	C -	15.0	A -	24.0	A -	24.0	В -	12.0	-	-	135.0	19.0	7.11	-
BBA/40098/16	SRISHTI PANDEY	U L	В -	18.0	C -	10.0	В	18.0	C -	15.0	В -	18.0	В	18.0	В -	12.0	-	-	109.0	19.0	5.74	-
BBA/40099/16	NANDANI KUMARI	U L	B+	21.0	C -	10.0	A -	24.0	B -	18.0	B+	21.0	A -	24.0	B+	14.0	-	-	132.0	19.0	6.95	-
BBA/40100/16	REENA KUMARI	U	B+	21.0	В	12.0	A	24.0	В	18.0	A	24.0	B+	21.0	B+	14.0	-	-	134.0	19.0	7.05	-
BBA/40101/16	KISHANGI NIDHI	U	B+	21.0	В	12.0	D	12.0	C	15.0	B+	21.0	В	18.0	B+	14.0	-	_	113.0	19.0	5.95	-
BBA/40102/16	NEHA SINGH	U	D	12.0	F*	0.0	B+	21.0	F	0.0	C	15.0	C	15.0	B+	14.0	-	-	77.0	19.0	4.05	F* IN : BBA3009
BBA/40103/16	ASTHA SAHU	U	B+	21.0	B+	14.0	A	24.0	C	15.0	B+	21.0	C	15.0	В	12.0	-	-	122.0	19.0	6.42	-
BBA/40104/16	SHILP RANI	U L	B+	21.0	B+	14.0	F*	0.0	В	18.0	A -	24.0	A	24.0	В	12.0	-		113.0	19.0	5.95	F* IN : BBA3003
BBA/40105/16	SHALINI PRIYA	U L	В -	18.0	C -	10.0	C -	15.0	D -	12.0	C -	15.0	C	15.0	В -	12.0	-	=	97.0	19.0	5.11	-

: PRINCIPLES OF MARKETING II : FINANCIAL ACCOUNTING : HUMAN RESOURCE MANAGEMENT : INTRODUCTION TO FINANCIAL MARKETS BBA3011(3) BBA3009(2) BBA1007(3) BBA1009(3) BBA3003(3) BBA3007(3) RESEARCH METHODOLOGY BBA3001(3) BBA3005(3) LEGAL ASPECTS OF MANAGEMENT BBA3002(2) WEB APPLICATIONS FOR BUSINESS LAB BBA1001(3) GENERAL PRINCIPLES OF MANAGEMENT

: INTRODUCTION TO BUSINESS ACCOUNTING : FUNDAMENTALS OF COMPUTING

Controller of Examinations

Disclaimer

Reference: EXAM/JPP/BITIC/LALPUR/BBA-THIRD/(MO/17)/2017-2018
By the order of Examination committee, the following is the result of BBA - THIRD Semester held in the month of NOV-2017

Date: FEB-2018

SESSION	I : 2017-2018 CLASS :	BBA			BRANCH	: MANA	AGEMENT	Γ					SE	MESTER /	TRIMES	ΓER : T	HIRD		MO	NTH OF EXAM	: NOV-2	2017
ROLL NO	NAME	U L		3011(3) 1007(3)		3009(2) 1009(3)	BBA	3003(3)	BBA;	3007(3)	BBA	-	BBA	3005(3)	BBA	3002(2)	BBA10	001(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BBA/40106/16	SRISHTY	U	B+	21.0	В	12.0	В	18.0	С	15.0	A	24.0	B+	21.0	B+	14.0	-	-	125.0	19.0	6.58	
BBA/40100/10	SKISITI I	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	123.0	19.0	0.56	_
BBA/40107/16	SHIWANI BHATT	U	B+	21.0	B+	14.0	В	18.0	В	18.0	В	18.0	В	18.0	B+	14.0	-	-	121.0	19.0	6.37	
BBA/4010//10	SHIWANI BHATT	L	-		-	-	-	-	-	-	-	-	-	-		-	-	-	121.0	19.0	0.57	-
DD 4 /40100/16	FARHANA AZMI	U	B+	21.0	В	12.0	A	24.0	В	18.0	A	24.0	B+	21.0	B+	14.0	-	- 1	134.0	19.0	7.05	
BBA/40108/16	FARHANA AZMI	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	134.0	19.0	7.05	-

BBA3011(3)	: PRINCIPLES OF MARKETING II	BBA1007(3) : INTRODUCTION TO BUSINESS ACCOUNTING	
BBA3009(2)	: FINANCIAL ACCOUNTING	BBA1009(3) : FUNDAMENTALS OF COMPUTING	
BBA3003(3)	: HUMAN RESOURCE MANAGEMENT	- :	1
BBA3007(3)	: INTRODUCTION TO FINANCIAL MARKETS	- :	Lawdey.
BBA3001(3)	: RESEARCH METHODOLOGY	- :	
BBA3005(3)	: LEGAL ASPECTS OF MANAGEMENT	- :	Controller of Examinations
BBA3002(2)	: WEB APPLICATIONS FOR BUSINESS LAB	- :	
BBA1001(3)	: GENERAL PRINCIPLES OF MANAGEMENT	-	

Disclaimer

Reference: EXAM / JPP / BITIC / LALPUR / BBA-THIRD / (MO/17) / 2017-2018

By the order of Examination committee , the following is the result of BBA - THIRD Semester held in the month of NOV-2017

Date: FEB-2018

SESSI	ION : 2017-2018	CLASS : BI	ЗА		В	RANCH	: MA	NAGEME	NT						S	EMESTE	R / TRI	IMEST	ER : THIRD			MONTH OF EXAM : NOV-2017
ROLL NO	NAME	1	ı 📗	A3011(3)		3009(2)		3003(3)		3007(3)		3001(3)		005(3)		3002(2)		-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.			GR.	PT.				
BBA/40527/16	RISHABH RITURAJ	1	U D	12.0	B	12.0	B+	21.0	B+	21.0	- A	24.0	- A	24.0	B -	12.0	-	-	126.0	19.0	6.63	-
BBA/40528/16	PRANAY TOPNO	Ţ	U C	15.0	F*	0.0	В	18.0	D	12.0	F*	0.0	F*	0.0	B+	14.0	-		59.0	19.0	3.11	F* IN : BBA3001, BBA3005, BBA3009
	1		J C	15.0	- C	10.0	B+	21.0	B+	21.0	B	18.0	- C	15.0	B	12.0	<u> </u>					
BBA/40530/16	SURAJ ORAON	1	L -	-	-	-	-	-	-	-	-	-	-	-	-	-	-	Ħ	112.0	19.0	5.89	-
BBA/40532/16	KRISHNA MAHTO	τ	J A	24.0	A	16.0	A	24.0	B+	21.0	A+	27.0	A+	27.0	Α	16.0	-		155.0	19.0	8.16	-
	1	1	L -	-	- 70.	-	-	-	-	-	-	-	-		-	-		-				
BBA/40534/16	KRISHNA MANPURIA		J A	24.0	B+	14.0	A	24.0	A	24.0	A -	24.0	A+	27.0	_ A	16.0	-		153.0	19.0	8.05	-
BBA/40537/16	MONU KUMAR RAJAK	τ	IJ В +	21.0	С	10.0	B+	21.0	С	15.0	В	18.0	С	15.0	Α	16.0	-	Ŀ	116.0	19.0	6.11	
BBA/4033//10	MONO KUMAK KAJAK	I	L -	-	-	-	-		-	-	-		-	-	-		-		110.0	15.0	0.11	
BBA/40539/16	RISHAV NARNOLIA	Ţ	J В+	21.0	В	12.0	Α	24.0	A	24.0	A	24.0	Α	24.0	Α	16.0	-	-	145.0	19.0	7.63	-
	<u> </u>	1	- T	- 21.0	-	-	-	-	-	-	-	-	-	-	- 7	-	-					
BBA/40540/16	AMBAR ANANT		IJ B +	21.0	B -	12.0	B+	21.0	B -	18.0	- A	24.0	- A	24.0	B+	14.0	-	-	134.0	19.0	7.05	-
BBA/40541/16	YUVRAJ SINGH	τ	Ј В	18.0	С	10.0	В	18.0	С	15.0	B+	21.0	С	15.0	В	12.0	-		109.0	19.0	5.74	-
		1	<u> </u>	-	-	-			-	-		-	-	-			<u> </u>	-				
BBA/40542/16	BIJAY SINGH BANI	Ţ	J B+	21.0	B+	14.0	A+	27.0	В	18.0	B+	21.0	A	24.0	В	12.0	-		137.0	19.0	7.21	-
<u> </u>		i i	J B+	21.0	B+	14.0	A	24.0	В	18.0	B+	21.0	В	18.0	A	16.0	H					
BBA/40543/16	SOURABH KUMAR	1	L -	-	-	-	-	-	-	-	-	-	-	-	-	-	-		132.0	19.0	6.95	-
BBA/40544/16	LOKESH RANJAN	Ţ	J A	24.0	B+	14.0	Α	24.0	B+	21.0	A	24.0	B+	21.0	B+	14.0	-		142.0	19.0	7.47	-
		1	L -	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-				

PRINCIPLES OF MARKETING II FINANCIAL ACCOUNTING HUMAN RESOURCE MANAGEMENT INTRODUCTION TO FINANCIAL MARKETS BBA3011(3) BBA3009(2) BBA3003(3) BBA3007(3) RESEARCH METHODOLOGY
LEGAL ASPECTS OF MANAGEMENT
WEB APPLICATIONS FOR BUSINESS LAB BBA3001(3) BBA3005(3) BBA3002(2)

Controller of Examinations

Disclaimer

Reference: EXAM / JPP / BITIC / LALPUR / BBA-THIRD / (MO/17) / 2017-2018

By the order of Examination committee , the following is the result of BBA - THIRD Semester held in the month of NOV-2017

Date: FEB-2018

SESSION	N : 2017-2018 CLASS : B	BA			BRANC	Н : МА	NAGEME	ENT						SEMESTE	R / TRIM	ESTER :	: THIRI	D		MONTH C	F EXAM	: NOV-2017
ROLL NO	NAME	U L	BBA3	3011(3)		3009(2)		3003(3)		3007(3)	BBA	3001(3)	BBA	3005(3)	BBA:	3002(2)	-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
		╙	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BBA/40545/16	KUMAR NILAY	U	В	18.0	C -	10.0	В	18.0	C	15.0	В -	18.0	В	18.0	B+	14.0	-	-	111.0	19.0	5.84	-
BBA/40546/16	KUNAL ROUNAK	U	С	15.0	В	12.0	В	18.0	С	15.0	B+	21.0	С	15.0	B+	14.0	-	-	110.0	19.0	5.79	-
		L	- B+	21.0	- B+	14.0	- B+	21.0	- A	24.0	-	24.0	- A	24.0	- B+	14.0	-	_				
BBA/40547/16	PRANAT PAL SINGH	L	- -	-	- -	-	- -	-	- A	-	- A	-	- A	-	- -	-	-	-	142.0	19.0	7.47	-
BBA/40548/16	PRATIK	U	В	18.0	С	10.0	В	18.0	В	18.0	В	18.0	В	18.0	B+	14.0	-	-	114.0	19.0	6.00	-
		U	B+	21.0	- В	12.0	- A	24.0	B+	21.0	- A	24.0	- B+	21.0	A+	18.0	<u> </u>	_				
BBA/40549/16	ASHUTOSH PRAKASH	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	i -	_	141.0	19.0	7.42	-
BBA/40550/16	ASHUTOSH KUMAR SINGH	U L	B+	21.0	C	10.0	В	18.0	В	18.0	В	18.0	В	18.0	B+	14.0	-	-	117.0	19.0	6.16	-
BBA/40552/16	RONIT KHALKHO	U	С	15.0	F*	0.0	B+	21.0	С	15.0	B+	21.0	В	18.0	B+	14.0	-	-	104.0	19.0	5.47	F* IN : BBA3009
55.5 10332 10	io. vi iui Biuio	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-			100	15.0		1 111 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
BBA/40556/16	ANKUR AGARWAL	U	B+	21.0	B+	14.0	A -	24.0	B+	21.0	B+	21.0	B+	21.0	B+	14.0	-	-	136.0	19.0	7.16	-
BBA/40557/16	KUSHALL MANEK	U	B+	21.0	A	16.0	A	24.0	B+	21.0	D	12.0	B+	21.0	В	12.0	-	-	127.0	19.0	6.68	-
		U	- B+	21.0	- B+	14.0	- A+	27.0	- A	24.0	- A	24.0	- B+	21.0	- A	16.0	-	_				
BBA/40558/16	PRAHARSH CHOUBEY	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	_	147.0	19.0	7.74	-
BBA/40559/16	PRITYUSH RAJ	U	B+	21.0	B+	14.0	A+	27.0	В	18.0	B+	21.0	B+	21.0	B+	14.0	-		136.0	19.0	7.16	-
	<u> </u> 	U	- B+	21.0	- B+	14.0	B+	21.0	C	15.0	- B+	21.0	- C	15.0	- A	16.0	-	_				
BBA/40560/16	NIRNAY MIRINAL	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	1 -	-	123.0	19.0	6.47	-

: PRINCIPLES OF MARKETING II : FINANCIAL ACCOUNTING : HUMAN RESOURCE MANAGEMENT : INTRODUCTION TO FINANCIAL MARKETS BBA3011(3) BBA3009(2) BBA3003(3) BBA3007(3) RESEARCH METHODOLOGY BBA3001(3) BBA3005(3) LEGAL ASPECTS OF MANAGEMENT WEB APPLICATIONS FOR BUSINESS LAB BBA3002(2)

Controller of Examinations

Disclaimer

Reference: EXAM / JPP / BITIC / LALPUR / BBA-THIRD / (MO/17) / 2017-2018

By the order of Examination committee, the following is the result of BBA - THIRD Semester held in the month of NOV-2017

Date: FEB-2018

SE	SSION: 2017-2018 CLASS	: I	3BA				BRAN	CH :	MANA	AGEME	NT								SEMESTER /	TRIMESTI	ER : '	THIRD MONTH OF EXAM : NOV-2017
ROLL NO	NAME	L	-			009(2) - PT.		-	BBA3	-	BBA:	-	BBA:	-		3002(2) - PT.	GR.	- - РТ	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
BBA/40561/16	BALJEET KUMAR BADAL		==	21.0		_		21.0	C -	15.0	D -	12.0		18.0	"	12.0		-	109.0	19.0	5.74	-
BBA/40562/16	AKASH PRABHAKAR	U L	A -	24.0	- 1	18.0	-	27.0	A -	24.0	A -	24.0	A+ -	_	<u> </u>	18.0	-	<u> </u>	162.0	19.0	8.53	-
BBA/40563/16	RAJEEV KUMAR SHARMA	L		21.0	-	14.0	-	27.0	-	24.0	A -	24.0	A -		B+ -		-	-	148.0	19.0	7.79	-
BBA/40564/16	KUMAR ARDIK	U L	B+ -	21.0	C -	10.0	A+ -	27.0	- A	24.0	B+	21.0	- B	18.0	- -	16.0	<u>-</u>	-	137.0	19.0	7.21	-
BBA/40565/16	BHAVESH KUMAR SINGH	U L	F*	0.0	F*	0.0	F*	0.0	F*	0.0	F*	0.0	F*	0.0	F*	0.0	-	-	0.0	19.0	0	F* IN : BBA3011, BBA3009, BBA3003, BBA3007, BBA3001, BBA3005, BBA3002
BBA/40566/16	DHAIRYA BANKA	U L	B+	21.0	B+	14.0	B+	21.0	B -	18.0	B+	21.0	B+	21.0	A+ -	18.0	-	-	134.0	19.0	7.05	-
BBA/40567/16	HARSH RAY	U L	B -	18.0	C -	10.0	B+	21.0	C -	15.0	В -	18.0	B+	21.0	A -	16.0	-	-	119.0	19.0	6.26	-
BBA/40568/16	DEVESH P	U L	B -	18.0	C -	10.0	B+	21.0	B	18.0	В -	18.0	B+	21.0	B+	14.0	-	<u>-</u>	120.0	19.0	6.32	-
BBA/40569/16	ABHINAV KUMAR	U L	B+ -	21.0	B -	12.0	B -	18.0	C -	15.0	B -	18.0	B+	21.0	B+	14.0	-		119.0	19.0	6.26	-
BBA/40570/16	PRINCE BHARADWAJ	U L	B+	21.0	A -	16.0	A+	27.0	A -	24.0	A -	24.0	A -	24.0	A -	16.0	-	- -	152.0	19.0	8.00	-
BBA/40571/16	ARSH ADEEB GHAZI	U L	B -	18.0	B -	12.0	A -	24.0	B+	21.0	B+	21.0	A -	24.0	A -	16.0	-	-	136.0	19.0	7.16	-
BBA/40572/16	VISHAL KUMAR	U L	B+	21.0	A -	16.0	Ex	30.0	A -	24.0	A+ -	27.0	A+	27.0	A -	16.0	-	-	161.0	19.0	8.47	-

Controller of Examinations

Disclaimer

Reference: EXAM / JPP / BITIC / LALPUR / BBA-THIRD / (MO/17) / 2017-2018

By the order of Examination committee , the following is the result of BBA - THIRD Semester held in the month of NOV-2017

Date: FEB-2018

SESSION	: 2017-2018 CLASS : BB	A		F	BRANCH	: MANA	GEMENT						SEM	ESTER / TI	RIMESTEI	R : THII	RD		M	ONTH OF EXAM	I : NOV-	2017
ROLL NO	NAME	U L	BBA3	3011(3)		3009(2)		3003(3)		3007(3)		-		3005(3)		3002(2)		-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BBA/40573/16	DEEP ROSHAN KUMAR	U	В	18.0	В	12.0	B+	21.0	В	18.0	В	18.0	B+	21.0	B+	14.0	-	-	122.0	19.0	6.42	-
BBA/40574/16	SUDHANSHU SAURAV	U	B+	21.0	С	10.0	A	24.0	В	18.0	B+	21.0	B+	21.0	A	16.0			131.0	19.0	6.89	_
BB/040374/10	SEDIMINING STERRY	L		-		-		-	-		-	-	-	-	-	-	-	-	151.0	15.0	0.07	,
BBA/40575/16	VIBHASH	U L	B+	21.0	C -	10.0	B+	21.0	C	15.0	В	18.0	В	18.0	A	16.0	-	-	119.0	19.0	6.26	-
		U	B+	21.0	С	10.0	B+	21.0	С	15.0	В	18.0	В	18.0	B+	14.0	-	<u> </u>				
BBA/40576/16	SHADAB AHMAD	L	-	-	-	-	-	-	-	-	-	-	-	-	i -	-	-	i - i	117.0	19.0	6.16	-
BBA/40577/16	RISHAV BHADORIA	U	B+	21.0	A	16.0	A+	27.0	B+	21.0	B+	21.0	В	18.0	B+	14.0	<u> </u>	<u> </u>	138.0	19.0	7.26	_
BB/04037 // 10	RISHITY BIRLIORIA	L	-	-	-	-	-		-	-		-	-	-	-	-	-	-	130.0	15.0	7.20	
BBA/40578/16	MD AMIR ALAM	U	В	18.0	B+	14.0	B+	21.0	С	15.0	С	15.0	C	15.0	A	16.0	-	-	114.0	19.0	6.00	-
		TI	D:		- D	12.0		24.0	- D			21.0		24.0	-		_	-			_	
BBA/40579/16	SACHIT	L	B+	21.0	В	12.0	A -	24.0	В	18.0	B+	21.0	A -	24.0	A	16.0		-	136.0	19.0	7.16	-
		U	B+	21.0	A	16.0	A+	27.0	B+	21.0	A	24.0	A	24.0	A+	18.0	_					
BBA/40581/16	MD SALIK NAWAZ	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	i -	151.0	19.0	7.95	-
BBA/40582/16	ALOK RANJAN	U	B+	21.0	В	12.0	A	24.0	В	18.0	B+	21.0	В	18.0	A	16.0	-	-	130.0	19.0	6.84	_
		L	-	-	-	-		-	-	-	-	-	-	-	-	-		-				
BBA/40583/16	ASHUTOSH KUMAR	U	B -	18.0	B	12.0	B+	21.0	C -	15.0	В -	18.0	В -	18.0	A+	18.0	-	-	120.0	19.0	6.32	-
BBA/40584/16	SWAPNIL SHUBHAM	U	В	18.0	F	0.0	В	18.0	D	12.0	С	15.0	D	12.0	B+	14.0	=	-	89.0	19.0	4.68	
DDA/40384/16	SWAPNIL SHUBHAWI	L	-	-		-			-	-		-	-	-	-	-	-		89.0	19.0	4.68	-
BBA/40585/16	HARSHIT SAHA	U	В	18.0	С	10.0	В	18.0	С	15.0	С	15.0	С	15.0	B+	14.0	-		105.0	19.0	5.53	-

: PRINCIPLES OF MARKETING II : FINANCIAL ACCOUNTING : HUMAN RESOURCE MANAGEMENT : INTRODUCTION TO FINANCIAL MARKETS BBA3011(3) BBA3009(2) BBA3003(3) BBA3007(3) RESEARCH METHODOLOGY BBA3001(3) BBA3005(3) LEGAL ASPECTS OF MANAGEMENT WEB APPLICATIONS FOR BUSINESS LAB BBA3002(2)

Controller of Examinations

Disclaimer

Reference: EXAM / JPP / BITIC / LALPUR / BBA-THIRD / (MO/17) / 2017-2018

By the order of Examination committee, the following is the result of BBA - THIRD Semester held in the month of NOV-2017

Date: FEB-2018

SESSION	ASS : BBA			BRANC	CH : MA	.NAGEMI	ENT						SEMEST	ER / TRIN	MESTER	THIR	D		MONTH (OF EXAM	: NOV-2017		
ROLL NO	NAME			BBA3011(3)		BBA3009(2)		3003(3)		3007(3)	BBA	3001(3)		BBA3005(3)		BBA3002(2)			TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS	
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.					
BBA/40586/16	UTKARSH BHARDWAJ	L	Ј В	18.0	В	12.0	Α	24.0	В	18.0	В	18.0	B+	21.0	A	16.0	-	-	127.0	19.0	6,68	_	
BB/1-40300/10	C TRANSIT BITTED WIS	1		-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	127.0	17.0	0.00		
BBA/40587/16	PIYUSH TYAGI		Ј В	18.0	F	0.0	A	24.0	С	15.0	B+	21.0	В	18.0	B+	14.0	-	-	110.0	19.0	5.79	UNFAIR MEANS	
BBA/4038//10	PHUSHITAGI	1		-	-	-	-	-	-	-	-	-	-	-	-	-	- 1	-	110.0	19.0	3.79	UNFAIR MEANS	
DD 4 /40599/16	A AVUICH CHOUD ACLA	I	Ј В	18.0	С	10.0	В	18.0	C	15.0	С	15.0	С	15.0	B+	14.0	- 1	105.0	19.0	5.53			
BBA/40588/16	AAYUSH CHOURASIA	1		-	-	-	-	-	-	-	-	-	-	-	-	-	- 1	- 105.0		19.0	3.33	-	
DD 4 (40500/16	G. LVD L DVI V. JGW. LV		Ј В	18.0	B+	14.0	B+	21.0	C	15.0	В	18.0	В	18.0	B+	14.0	- 1	-	110.0		(2)		
BBA/40589/16	SAURABH JAISWAL	1		-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	118.0	19.0	6.21	-	
DD 4 /40501/16	HARGH ANAND	1	J B+	21.0	B+	14.0	A+	27.0	B+	21.0	A	24.0	A	24.0	A	16.0	- 1	-	147.0	19.0	7.74		
BBA/40591/16	HARSH ANAND	Ī		-	-	-	-	-	-	-	-	-	-	-	-	-	-	- 1	14/.0	19.0	7.74	-	
DD + (40500/16	GAVETAN WAR CAR ORNOV	ī	J B+	21.0	A	16.0	A+	27.0	B+	21.0	A	24.0	A	24.0	A	16.0	-	149.0		10.0	5.04		
BBA/40592/16 GAUT	GAUTAM KUMAR SINGH	Ī		<u> </u>	-	i -	-	-	-	-	-	-	-	-	-	-	-			19.0	7.84	-	

BBA3011(3) BBA3009(2) PRINCIPLES OF MARKETING II FINANCIAL ACCOUNTING BBA3003(3) HUMAN RESOURCE MANAGEMENT BBA3007(3) INTRODUCTION TO FINANCIAL MARKETS RESEARCH METHODOLOGY
LEGAL ASPECTS OF MANAGEMENT
WEB APPLICATIONS FOR BUSINESS LAB BBA3001(3) BBA3005(3) BBA3002(2)

Controller of Examinations

Disclaimer

Disclaimer

Reference: EXAM / JPP / BITIC / LALPUR / BBA-THIRD / (MO/17) / 2017-2018

By the order of Examination committee, the following is the result of BBA - THIRD Semester held in the month of NOV-2017

Date: FEB-2018

SESSION	N : 2017-2018 CLASS : BBA BRANCH : MANAGEMENT												SE	MESTER /	TRIMES	TER : T	MONTH OF EXAM : NOV-2017					
	NAME		BBA3011(3) BBA1007(3)		BBA3	3009(2)	BBA3	3003(3)	BBA	3007(3)	BBA:	3001(3)	BBA3	3005(3)	BBA	3002(2)	BBA1001(3)		TOTAL CREDIT	TOTAL		I
ROLL NO					BBA1009(3)		-			-		-		-		-		-	POINTS	CREDITS	SGPA	REMARKS
		Щ	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				<u> </u>
BBA/40001/16	PARIDHI SINGHANIA	U	A	24.0	A+	18.0	A+	27.0	Ex	30.0	A+	27.0	A+	27.0	A+	18.0	-	-	171.0	19.0	9.00	-
		U	A+	27.0	A+	18.0	Ex	30.0	A	24.0	A+	27.0	A+	27.0	A+	18.0	-	-				
BBA/40002/16	PRITIKA PRIYA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	171.0	19.0	9.00	-
BBA/40003/16	CHAHAT VERMA	U	A	24.0	A	16.0	A+	27.0	A	24.0	A+	27.0	A	24.0	A	16.0	-	-	158.0	19.0	8.32	_
BB11 10003/10		L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	130.0	15.0	0.52	
BBA/40004/16	RITIKA SRIVASTAVA	U	A	24.0	A+	18.0	A+	27.0	A+	27.0	A+	27.0	A+	27.0	A+	18.0	-	-	168.0	19.0	8.84	
		L	-	-	-	-	-	-	-	-	-	-	-	-	-	-		-				
BBA/40005/16	AAKIRTI	U	A+	27.0	A+	18.0	Ex	30.0	A+	27.0	A+	27.0	A+	27.0	A+	18.0	-	-	174.0	19.0	9.16	-
		L	-	- 24.0	-	10.0		27.0		24.0	-	- 27.0	-	- 24.0	-	16.0		-		╫──╢		<u> </u>
BBA/40006/16	ANKITA SINHA	I.	_ A	24.0	A+	18.0	A+	27.0	A	24.0	A+	27.0	A .	24.0	A	16.0	-	-	160.0	19.0	8.42	-
		II	Λ.	24.0	A+	18.0	A	24.0	B+	21.0	A+	27.0	_	24.0	A+	18.0		_			-	
BBA/40007/16	DIVYA JYOTI SINHA	L	-	24.0	Α.	10.0		24.0		21.0	Α.	-	_ A	24.0	Α.	- 16.0	Ë	_	156.0	19.0	8.21	-
		U	A	24.0	B+	14.0	A+	27.0	Α	24.0	A	24.0	A	24.0	A	16.0	-	-				
BBA/40008/16	RAJ PRIYA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	153.0	19.0	8.05	-
BBA/40009/16	NAUSHIN KHAN	U	B+	21.0	A	16.0	A+	27.0	A	24.0	A+	27.0	A	24.0	A	16.0	-	-	155.0	19.0	8.16	_
BB/1-10009/10	TATOSIM KIMI	L		-	-	-	-	-	-	-	-	-	- 1	-	-	-	-	-	155.0	15.0	0.10	
BBA/40010/16	KHUSHBOO RANI	U	A+	27.0	A+	18.0	A+	27.0	A	24.0	A+	27.0	A	24.0	A	16.0	_	-	163.0	19.0	8.58	-
		L	-	-	-	-	-	-	-	-	-	-	-	-	-	-		-			\sqsubseteq	
BBA/40011/16	AAKANSHA BAGGA	U	A	24.0	A	16.0	A+	27.0	B+	21.0	A+	27.0	A	24.0	A	16.0	-	-	155.0	19.0	8.16	-
	<u> </u>	U	B+	21.0	A	16.0	A+	27.0	В	18.0	A+	27.0	B+	21.0	A	16.0	В	18.0			\vdash	-
BBA/40012/16	SUMONA BANERJEE	L	-	-	F	0.0	-	-	-	-	-	-	-	-	-	-	-	-	164.0	25.0	6.56	-

Controller of Examinations

Disclaimer

Reference: EXAM/JPP/BITIC/LALPUR/BBA-THIRD/(MO/17) / 2017-2018

By the order of Examination committee, the following is the result of BBA - THIRD Semester held in the month of NOV-2017

Date: FEB-2018

SESSION	ON: 2017-2018 CLASS: BBA BRANCH: MANAGEMENT												SE	MESTER /	TRIMES	TER : TI	MONTH OF EXAM : NOV-2017					
			BBA	3011(3)	BBA3	3009(2)	BBA	3003(3)	BBA3	3007(3)	BBA	3001(3)	BBA	3005(3)	BBA	3002(2)	BBA1001(3)					
ROLL NO	NAME	L	BBA1007(3)		BBA1009(3)			-		-		-		-		-	-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
		Ш	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BBA/40013/16	PRIYANKA PRIYADARSHINI	U	С	15.0	В	12.0	A	24.0	A	24.0	A	24.0	B+	21.0	A	16.0	-	-	136.0	19.0	7.16	-
		L	-	-	-	-		-	-	-	-	-	-	-	-	-	-	-				
BBA/40014/16	PRITIKA VERMA	U	A	24.0	A+	18.0	A+	27.0	A	24.0	A+	27.0	A+	27.0	A	16.0	-	-	163.0	19.0	8.58	-
		L	-	-	-	-	-	-	-	-		-	-	-	-	-	-			-		
BBA/40015/16	RITU KUMARI MISHRA	U	A+	27.0	A+	18.0	Ex	30.0	B+	21.0	Ex	30.0	A+	27.0	B+	14.0	-	-	167.0	19.0	8.79	-
	<u> </u>	L	-	24.0	B+	14.0	- A	27.0	-	24.0	- A :	27.0	- A :	27.0	-	16.0	-					
BBA/40016/16	PRIYANKA PATHAK	ī	A	24.0	Бт	14.0	A+	27.0	A	24.0	A+	27.0	A+	27.0	A	16.0	-	-	159.0	19.0	8.37	-
		II	Δ	24.0	A	16.0	A+	27.0	Δ	24.0	A+	27.0	Δ	24.0	A	16.0			<u> </u>		8.32	-
BBA/40017/16	PRIYA SINGH	L	-	24.0	- A	- 10.0	A .	27.0		24.0	Α.	-	-	24.0	_ A	- 10.0			158.0	19.0		
		U	A+	27.0	A	16.0	A	24.0	A	24.0	A+	27.0	A	24.0	A+	18.0	-	-				
BBA/40018/16	ALPANA JESSICA KANDULNA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	- 1	-	-	160.0	19.0	8.42	-
	ĺ	U	A	24.0	А	16.0	A+	27.0	A	24.0	A+	27.0	A+	27.0	A	16.0	-	-		19.0		
BBA/40019/16	AKHOURI SHAILJA SINHA	L	-	i -	-	-		-	-	-	-	-	-	-	-	-	-	-	161.0		8.47	-
		U	Α	24.0	A+	18.0	Α	24.0	Α	24.0	A+	27.0	A+	27.0	B+	14.0	-	-				
BBA/40020/16	MANSI AGARWAL	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	158.0	19.0	8.32	-
BBA/40021/16	PALLAVI JAISWAL	U	A+	27.0	A+	18.0	A+	27.0	B+	21.0	A+	27.0	A+	27.0	A+	18.0	-	-	165.0	19.0	8.68	
BBA/40021/16	PALLAVI JAISWAL	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	165.0	19.0	8.68	-
BBA/40022/16	SHREYA DHAMORIKAR	U	B+	21.0	A	16.0	A+	27.0	B+	21.0	A+	27.0	A+	27.0	A	16.0	-	-	155.0	19.0	8.16	_
BB/ € 40022/10	SIRCIA DILIGORICA	L	-		-	-	-	-	-	-	-		-	-	-	-	-	-	155.0	17.0	0.10	
BBA/40023/16	PRAGATI KANODIA	U	A	24.0	A	16.0	A+	27.0	B+	21.0	A	24.0	A	24.0	A+	18.0	-	-	154.0	19.0	8.11	-
		L	-	-	-	_		-		-	-		-	-		-	-	-		-2.0		
BBA/40025/16	SMRITI RIA BAKHLA	U	A	24.0	B+	14.0	A	24.0	A	24.0	A+	27.0	B+	21.0	A	16.0	-	-	150.0	19.0	7.89	-
BBA/40025/16 S	SWRIT KIA BAKILA	L	-	-	-			-	-	-	-			- [- [-	-	-				,

PRINCIPLES OF MARKETING II FINANCIAL ACCOUNTING HUMAN RESOURCE MANAGEMENT INTRODUCTION TO FINANCIAL MARKETS : INTRODUCTION TO BUSINESS ACCOUNTING : FUNDAMENTALS OF COMPUTING BBA3011(3) BBA3009(2) BBA1007(3) BBA1009(3) BBA3003(3) BBA3007(3) RESEARCH METHODOLOGY LEGAL ASPECTS OF MANAGEMENT BBA3001(3) BBA3005(3) BBA3002(2) WEB APPLICATIONS FOR BUSINESS LAB BBA1001(3) GENERAL PRINCIPLES OF MANAGEMENT

Controller of Examinations

Disclaimer

Reference: EXAM / JPP / BITIC / LALPUR / BBA-THIRD / (MO/17) / 2017-2018

By the order of Examination committee, the following is the result of BBA - THIRD Semester held in the month of NOV-2017

Date: FEB-2018

SESSION: 2017-2018 CLASS: BBA BRANCH: MANAGEMENT													SE	MESTER /	TRIMES	ΓER : T	MONTH OF EXAM : NOV-2017					
			BBA3011(3)		BBA3	3009(2)	BBA	3003(3)	BBA	3007(3)	BBA	3001(3)	BBA	3005(3)	BBA3	3002(2)	BBA1001(3)		TOTAL CREDIT	TOTAL	0.00	DEMARKS
ROLL NO	NAME	L	BBA1007(3) GR. PT.		BBA1009(3) GR. PT.		GR. PT.		GR.	PT.	GR.	PT.		GR. PT.		- PT.	GR. PT.		POINTS	CREDITS	SGPA	REMARKS
		п	A+	27.0	A A	16.0	GR.	27.0	GR.	24.0	A+	27.0	GK.	24.0	GR.	16.0	GK.	P1.				
BBA/40026/16	SWATI KUMARI	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	161.0	19.0	8.47	-
BBA/40027/16	VAISHNAVI JHA	U	A	24.0	A	16.0	A+	27.0	A	24.0	A+ 27.0	27.0	A+	27.0	Α	16.0	- 1 -	-	161.0	19.0	 	
BBA/4002//16	VAISHNAVI JHA	L	-		-	-	<u> </u>		<u> </u>	-		-	-	-]		-	161.0	19.0	8.47	<u> </u>	
BBA/40028/16	SHARMIN ALMAS	U	B+	21.0	A	16.0	A+	27.0	A	24.0	A	24.0	A+	27.0	Α	16.0	-		155.0	19.0	8.16	-
		L	-	- 21.0	-	-	-	- 27.0	-	-	-		-	- 27.0	-	-	-	-				<u> </u>
BBA/40029/16	SOUMYA ANAND	Ţ	B+	21.0	A	16.0	A+	27.0	A+	27.0	A+	27.0	A+	27.0	A	16.0	-	-	161.0	19.0	8.47	-
BBA/40031/16 SIMR.	SIMRAN MADANPOTRA	U	В	18.0	B+	14.0	A	24.0	B+	21.0	A	24.0	A	24.0	A	16.0		-	1410	19.0	7.42	-
		L	-	<u> </u>	-	-	<u> </u>	-	<u> </u>	-	-	-	i -	-	-	-	-	-	141.0			
BBA/40032/16	SHREYA AGRAWAL	U	B+	21.0	A	16.0	A	24.0	A	24.0	D	12.0	A	24.0	Α	16.0	-	-	137.0	19.0	7.21	_
BBA/40032/10	SHKETA AGRAWAL	L	-	-	-	-	-	-	-	-	-	-	-	-		-		-	137.0		7.21	ļ
BBA/40033/16	TISHA PANDEY	U	B+	21.0	A	16.0	A	24.0	С	15.0	A	24.0	B+	21.0	A	16.0	-	-	137.0	19.0	7.21	-
	ļ	L	-	<u> </u>	-	-	-	-	-	-	-	-		-	-	-	-	-				
BBA/40034/16	RIYA KUMARI	U	A	24.0	A	16.0	A+	27.0	A	24.0	A+	27.0	A+	27.0	A	16.0	-	-	161.0	19.0	8.47	-
		U	A+	27.0	A+	18.0	- A+	27.0	A+	27.0	- A+	27.0	A+	27.0	- A	16.0	-	-				
BBA/40035/16	GAYATRI NARSARIA	L	-	-	-	-	-	-	-	-	-	-	-	-		-	-	-	169.0	19.0	8.89	-
BBA/40037/16	MANSI ANAND	U	A+	27.0	A	16.0	Ex	30.0	A	24.0	A+	27.0	A+	27.0	Α	16.0	-	-	167.0	19.0	8,79	
DDA/4003//16	MANSI ANAND	L	-]	-	-	-	-	-	-	-	-	-	-	- 1	-	-	- 1	107.0	19.0	8.79	
BBA/40038/16	KHUSHBOO TOPPO	U	A	24.0	B+	14.0	B+	21.0	В	18.0	B+	21.0	B+	21.0	A	16.0	-	-	135.0	19.0	7.11	-
		L L	-	- 24.0	-	- 10.0	-	- 27.0	- D:	- 21.0	-	- 27.0	<u> - </u>	- 24.0	-	- 10.0	<u> </u>	-				
BBA/40039/16	DULARI PRIYA HANSDA	U I.	A	24.0	A+	18.0	A+	27.0	B+	21.0	A+	27.0	A	24.0	A+	18.0	-	-	159.0	19.0	8.37	-

: PRINCIPLES OF MARKETING II : FINANCIAL ACCOUNTING : HUMAN RESOURCE MANAGEMENT : INTRODUCTION TO FINANCIAL MARKETS : INTRODUCTION TO BUSINESS ACCOUNTING : FUNDAMENTALS OF COMPUTING BBA3011(3) BBA3009(2) BBA1007(3) BBA1009(3) BBA3003(3) BBA3007(3) RESEARCH METHODOLOGY BBA3001(3) BBA3005(3) LEGAL ASPECTS OF MANAGEMENT Controller of Examinations BBA3002(2) WEB APPLICATIONS FOR BUSINESS LAB BBA1001(3) GENERAL PRINCIPLES OF MANAGEMENT

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

Disclaimer

Reference: EXAM / JPP / BITIC / LALPUR / BBA-THIRD / (MO/17) / 2017-2018

By the order of Examination committee, the following is the result of BBA - THIRD Semester held in the month of NOV-2017

Date: FEB-2018

SESSION													SEMI	ESTER / TI	RIMESTE	R : THII	RD		MONTH OF EXAM : NOV-2017				
ROLL NO	NAME		BBA3011(3)		BBA3009(2)			3003(3)		3007(3)		-		3005(3)		3002(2)	-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS	
		Ш	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.					
BBA/40502/16	SOURABH KUMAR	U	C	15.0	C	10.0	C	15.0	D	12.0	D -	12.0	C	15.0	B+	14.0	-	-	93.0	19.0	4.89	-	
BBA/40503/16	PRATUYSH SINGHANIA	U	A	24.0	A	16.0	B+	21.0	С	15.0	A	24.0	A	24.0	A	16.0	-		140.0	19.0	7.37		
		L	-	-	-	-	-	-	-	-	-	-	-	-	-	-		-			7.57		
BBA/40504/16	ANIKET RAJ	U	B+	21.0	B+	14.0	B+	21.0	B	18.0	B+	21.0	B+	21.0	B+	14.0	-	-	130.0	19.0	6.84	-	
		U	A	24.0	B+	14.0	B+	21.0	С	15.0	B+	21.0	В	18.0	A	16.0	-	-					
BBA/40505/16	RAHUL CHOUDHARY	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	- 1	129.0	19.0	6.79	-	
BBA/40506/16	SATYAM AYUSH	U	A	24.0	A	16.0	B+	21.0	A+	27.0	Α	24.0	A	24.0	A	16.0	_		152.0	19.0	8.00	-	
BB10-10300/10		L	-	-	-	-		-	-	-		-	-	-	-	-	-		132.0	15.0	0.00		
BBA/40507/16	LAL PRASHANT NATH SAHDEO	U	A	24.0	A+	18.0	A	24.0	B+	21.0	A	24.0	A+	27.0	A	16.0	-	-	154.0	19.0	8.11	-	
		II	R+	21.0	A	16.0	B+	21.0	В	18.0	B+	21.0	В	18.0	_	16.0							
BBA/40508/16	DEVANSHU TEKRIWAL	L	-	21.0	- A	10.0	-	-	-	-	-	21.0	-	-	A -	-			131.0	19.0	6.89	-	
		U	B+	21.0	A	16.0	В	18.0	В	18.0	A	24.0	B+	21.0	A	16.0	-	-					
BBA/40509/16	KUMAR SURYANK	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	- 1	134.0	19.0	7.05	-	
BBA/40510/16	SHARAD KUMAR MAHTO	U	A	24.0	A+	18.0	Α	24.0	B+	21.0	A	24.0	A+	27.0	A	16.0	-		154.0	19.0	8.11	_	
		L	-	-	-	-	-	-	-	-	-	-	-	-	-	-		-	-				
BBA/40511/16	LAV KUMAR	U L	B+	21.0	A -	16.0	A -	24.0	B+	21.0	A -	24.0	A+	27.0	B+	14.0	-	-	147.0	19.0	7.74	-	
		U	A	24.0	B+	14.0	A	24.0	В	18.0	A	24.0	A	24.0	A+	18.0	-						
BBA/40512/16	ARIHANT JAIN	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	146.0	19.0	7.68	-	
BBA/40513/16	VARUN DEV SINHA	U	B+	21.0	В	12.0	B+	21.0	B+	21.0	В	18.0	B+	21.0	В	12.0	-		126.0	19.0	6.63	-	
BBA/40513/16 VA	VARUN DEV SINHA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-					

Controller of Examinations

Disclaimer